A 175

iR AR

FMGTITT = 1 7 L R BT SR 1) G2 2 I8 GREARED)

FHiEBZRH

TM2450 13

I&

AT TR TERR A Z R 8L TS0,
X4/25 UIBRDARETH DEQ5 ARDRANZTS

NEDEHRIZKENH D ENEHTY,

SOOI 2T TN D T, RIS T EE 4 5

I \ = EftFF s iERSht- 13 HOBESEEH
nH
WBAEZS  \ | 1][2]3]4|5]6]|7]8[9][1]2]3]4
7Y HF HIZFRA2v AHYF O0OHTx
ENK ROk - T4 N RPTINN
b 0ttt ot s 1 tistdnsE O0ONhTx

ARIEFTER ((EFT)

WPNICFTES 2 Ha% - JESEDFTTE
HWELTLEICFEAL T IZEVY,

T444-8601
EIEFHOORFAAL -2 - - -

A EERR s 0564 (00 )

FEADSE(FREREMNZHRED

0000

REHEM, - K4

RRENFRE  [ElE  KED

(LEISE

20 A

2

ERERALTOSRERER (N TILNAERRO EREHE

AL D

1,000,000 M

ix =9 QXTI ZTT

(EBoM12D)

ZAETHLDIZFIVY

IR3E (EZERFRIAEMND L 723

fis% = — B H Thi % 2 ik i3 4/26~5/6,

O EWIF ORSEZ FhiE L 72

BEAEXEXIFEARAEDRHEITE

ZEEH M O LUR oMM AR (R AL L E L,
(%) ZEEEH MM - 4/17~5/6 (4/1T IZEEREERH->THRW),
2L, fisk=— R C. F G, J ThaE Dffiskid 4/23~5/6,

DM RRI— %
REARHOZFRLTELE

Vv 4 A 25 HLARBEOHIRIAZE 2 30 L 7=
(%) gk = — K H ChaE Dtk 2 ki<
N JSVA —gria\ L. e jj'@ %ﬁ =g — ]\\‘
R (FZER RN S (3HiDa— k) K 0 1
ppwmEmoss | m e | 4o 10 00~21 00
Mg = — K THAE - TP
B R Db rmgorgnn | ho 10 50730 0
3 HEE GIR) THAH MM A0 () IKF =y LTS,
J¥500, 000. — ©@¥250, 000.
ek LHMERELIBAIE 50 R 4/25 UBOHREDHAE 25 5,
SR - 24 elele B o 000 \ &=
o Tw) « Y pmEe| 1] 2|34 5\§ 7
(7 V59 1) ANYF FAEIDRISIUTT AHTF F00
O JE 4 3% KRAsttdHhE KREGFE® MIF  KEB

<L >
O MEAFES] X

O Dd&fasr=— N1 ix, Eim [HlE

O MRBAZEOFE] 1THFEEEF—4B[OOEL LT EEN, w5 X724
B - DR GEIREB & TEICEEO THOFS) ZRALTLLIZEN,

ORlZ 3 DUEEH —EAHERD L, LERAFEFATAM LTS,

FEET, MEATICRBWVTRAMARE LI-#%1E., BHEe0idERkEL L TR

OZpH

FEER—RBTHI L,

| OFEIXEE
O MEEEH 13, FREALCOLCER (FEL, R, /~—F - 7 FERL

mE, EEBBOEHBEERESNT
MBERDGEEIXEFRERDESE
BEZEREEHT 5,
EEBMEERLESEX
5:00~20:00 DEEFHELE-TLY
%):to

1 *gehEsk = — F—5%) (R S sk




WSS D - M —5c (Fim 1 CRod L7t

B - IR ORI Lok & R

2 fiEx - I &4 PR N 8 D
o B Rn F¥H 10 : 00~21: 00
. . R {AH 10 : 00~23 : 00
OOHhTx [EiFit/E HJx -)UL KK ChAEBIERDH:
(T figga—F | REERO
= e i ¥H 10 : 00~20 : 00
R O OFT - Kk | o |1 " | kA 10 : 00~20: 00
XK Chig: DR
= R Hh
3 fiEx - 4 T HENE 18 O
e i | FH 10 :00~21:00
- . R {AH 10 : 00~23: 00
OOHhTx EHIE HJx -)0L KK ChEBIERDH:
T figga—r | BEHEO
— e i | ¥H 10 : 00~20 : 00
SHMOOH] - k o |1 " | #kA 10 : 00~20: 00
XK Chig: DHERDA
N7 G
4 fiEx - JE 4 T HENE 8 O
A e - HEL
Brk(—a PN scgESE = Sp—
BRA(CFIE 9 22 COREZFBEBDISNMES < [ETH(IC DT
s ALTLIZEU),
3 . ./\ /—grb {t\ » —_— N N jj
XECONEE - JEEHNMASE - BFfEREHE L CULVRITNIEm D E
. <
5 § DIV RE(FIRDFEA
X4/25 DIBFOARETHNE(25 HR)DR AN ZITF5SNDD
(ITHRCALL - BERENSDCENFHFTT,
KK ThAE DDA
FIER 1 BHERTHRIER
(@I
FakomE | me—r BER RO e+ AR MRORE e+ AR
AL [Pre/si— col [ BT | o1 |47
M2 A tr57 C02_[WPPFE: (e LR THo [iehi
203 |F oAb C03_|Ais e s " 103 |z ol
YHEEY C04_|HIEFR: - mRrik J01 |~y hvav~
205 |~ C05_| A AR FE - AR (< k7 FoiRE k<)
A06_|7— 7 i C06_|[{>s—Fvarrrs— 102 |~v 1 A= 122
AT _|~7 e s | _COT_|EBNTHCET 103_|Er BN
A08_[Fomia Netv 514 |_CO8 |FEm 104 |EEEAS R C. ~> 3 )
— 209 |70~ SR C09_| Vs 105 _| &0 (BR &% <)
R A0 |7 o a7 MFREHEILN [Cc10 [wRHeE J06_|#kvav7
AL A=A 5% C11 [Pt - fpBtics 107 [k
A2 A s—Fv 7= Clo |EGTE - ki - Sk - R 108 |Bbbok. BlBLE
AL3_[EEieA C13_|zriErsE 109 _|PAkE - R BLEE
Ald | IFA TRy o A Cl4 (L x—#H= J10 oW/ EFAvay T - LV
ALs |95 Cls |l JLL |77 K7 i, AR—> 7 5 A
Al6 | FAT DA Cl6 |[AR—UHE=E J12 |[Frvvay
ALT B GE D 5B C17_|zof — T13 | Liemit
Al8 [z ofh DO1 |k FRIR 14 [FATIRELE Uk4)
BO1 |t D02_|@ib; J16 |7 A Ry o X
B02 | - Ak s D03 _|[75x40 04 116 | Aryas
BO3 Ry U/t ” D04 |weEify JI7 |EFo®xs2x7vvay
BO4 |25 — 15 D05 _|nisbs J18 [A—r~—gky
B05 |AHk—v2s57 D06_|Zoii Tl |AEe
BO6 |mv KoK - AAAFTF E0L |25 120 |V
BO7 |7 e %1 B02 |Azi 21 |[=x79a>
. sy |_BO8 |57 ¢ /eI £03_|Exr5 122 |AkEO ¥ e
Sl b | BO9 | Pe ik el s %4 - B | B04 A 123 ey
e Bl0_|mraki o1 2 R 124 |FiR - 74 bAsOF
K2 BUEIREY | B11 =24 ¥l %2 E06 % Hitk—L J25 |l
ke Bl2_|Zshis £07_ |z ol 126 |meE
B13 |ds x FO1_|m#nth 127 |z ol
Bld |~ vk F02_| i N _
B15 | <Fo )k F03 ;’ﬁ‘ﬁ @E%E%Fﬁﬁiﬂ%ﬁgu%
Bl6 |/ it s F04_|Fr7t MR ORI | e+ AR
Bl7 |7~~~ s F05_|iath KOL |#croik
B18 |k F06 |k K02 |kramik
B19 [zl FO7 |[##l= fr R G K03 [mexs
FO8_ | Seemd, 7—2 | K04 [T - RIS
F09 |Zofth 7Y R—EA K05 [#Ee4skE
FTVSUIRE | G0l [RT (RO 5 < K06 |tk
SEeomr [e02 [ Gezomicty 5w K07 |2/
%) G03 |[Zofth ELo Ry 5 ) K08 |Zoft




